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3rgfsa meier

P 3 GHST fh I8 31hcl AR B T8l o Tahcll, AT IT= Tt DY AT gl b afe Ta AT
GHIS e dl 1 STeal 3R ST § gl SIQT| ITh! JTd Tt i 3t @t 3R gt Tt = fAeTeny Aigeat
T THTS Y& B QY| ATl Dl THTS TaY HiS S AT Hiifch ag hras iR 7wl & ¥ g8 off | T agan
qrett # Iaw I f3eTeh 8T AT, 99 hiFd 3 39 U b 89 99 sRIeR g 3R I8 o+t 3+ &) St @
I aTeh! S| SiFeT Y I AR g @sahl A WIS # S[e TTI| 59 ATclfch 3 I8 3@ af 3-8 3
g1 3R I hiveT & YT fh I8 I I o @ 811 At A Sfara foar fh 3 e diget &l 916 3R
&R ST I18d ¢ | Hiciich = gl foh THIE af A1kl T 1 8, dd DT A WE TY § el foh ThIg hel
Gehl 1 ¢ 3R &1 99 SRTSR & | 39 ThR hiHel = 21F T T 3R GHTCT ol Tl faT|

T St Ugh A1 3T 77 gt & 3R 9w
g 1: dAa F g ot Fa1 gera fear?

3.

TSI 2 ATet} hl TS ehed THY i fNsTeh T AT 3R Ri?

3.

Ul 3: el A dSch hl 9T JHSTAT?

3.

U 4: AlcIfhT A hiAe & T go1?

3.

U 5: hiFe 3 WHTS oh b & IR J 7 faaR age fohar?

3.
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BT het -
Answer

g 1: BiAa 3 gt ot Fa1 gera fear?
IR: DA = Gorra 3T foh Tt fcten Twrs &, s v Seat SR ST & 93T 8t SITg|

U 2: ATl hl THTS hid AT i 51T 8T a1 3R i ?
3R Teh ISRl ATl § I I {3181ep 8T AT iifeh ag 39 7iaT 3R i< s gHet IgT ol

Ul 3: e A dSch bl 9T THSTAT?
ITR: BT o IS fob 89 99 SRIeR & 3R ATed! hl s off I+ g STt & =T 817 &1 |

U 4: AlcIfchT A hiAe & T go1?
JR; HIcT{ch = hidel & YT foh ag 3R a1ehl o= Ah1E I o W8 &, Hlfch g TWHIg ohl AT Ikl ol
T AT o |

U 5: hiFe 7 HTS oh b & IR J 7 faaR age fhar?
3TR: P o gl foh ThTS i1 Gt ol 1 § 3R T8 IS Stel a1 A1 hiF Tai o

Free worksheets, NCERT Solutions, Learning material & more at www.onepointlearning.com




